EXAM 2 Name
Math 2423 :
4-2-10 Row

Instructions Work all of the following problems in the space provided. If there is not enough room, you may
write on the back sides of the pages. Give thorough explanations to receive full credit.

1. (12 points) @ @

a) Give a proof that —e” = ¢€”.

A h_oK!
3 NN -e/j e =
) ?Z{é(e‘) Jon\ S %QC A >

e W | _ S
’QMM QK(GJ&\\ R. %?o( (X "¢

bro @

b) Give a proof that % Inz=—.

2. (16 points)
a) Find the derivative of the function y = z'%°Inz.
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b) Find the z-coordinate of the lowest point P on the graph of y = z'%lnz (see diagram).
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3. (24 points) Find the indefinite integral, showing all work. Remember to express your answer as a function
of x.
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5. (24 points) Find the value of the definite integral, showing all work. Simplify your answer as much as
possible.
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6. (24 points) The shaded region in the diagram lies between the curve x = 32, the line z = 9, and the line

z=0.
(/Lj a) Find the volume obtained by revolving the region around the z-axis. 3‘;
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[11 b) Find the volume obtained by revolving the region around the y-axis.
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